

GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services

Payments

19th Floor Edmonton Tower Edmonton AB T5J 2R7

Canada Phone:

Edmonton Christian Slo-Pitch League

7356 188 Street NW Edmonton AB T5T 5G3

Canada

Attn: Andrew Crossman

Account Ph#: 780-451-3881

Account Email: andrew@westmeadows.org

Contact Ph#: Not Provided
Contact Email: Not Provided

Booking #: 7122261 Booking Date: 2025-01-03

Purpose of Use: 2025 SLO Diamond - Adult

City of Edmonton hereby grants Edmonton Christian Slo-Pitch League (hereinafter called the "Licensee") represented by Andrew Crossman, permission to use the Facilities as outlined, subject to the Terms and Conditions of this Agreement contained herein and attached hereto all of which form part of this Agreement.

Date(s) and Time(s) of Use: # of Bookings 264 Starting: 2025-05-05

Ending: 2025-08-25

Date Times Equ	ipment/Other Items	Units	Quantity	Rate	Total (Incl Tax)
May 2025					
Belmont: 0228SF- Belmont # 3 Diamor	nd				
Mon 5 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 19 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Bessie Nichols: 1577SF- Bessie Nicho	ls # 1 Diamond				
Mon 5 May 07:00:PM to 09:00:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 12 May 07:00:PM to 09:00:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 26 May 07:00:PM to 09:00:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Bishop Savaryn: 8048SF- Bishop Sava	aryn # 3 Diamond				
Mon 5 May 07:00:PM to 09:00:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 12 May 07:00:PM to 09:00:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 19 May 07:00:PM to 09:00:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 26 May 07:00:PM to 09:00:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Cumberland: CUOT- Cumberland # 1 [Diamond				
Mon 5 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 19 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Dunluce: 0246SF- Dunluce # 1 Diamor	nd				
Mon 5 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 19 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Elsinore: ELSOT- Elsinore # 2 Diamon	d				

Printed As of: 2025-04-22 11:24 AM **Booking #**: **7122261** Page 1 of 15



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7

Canada Phone:

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

Date Times Eq	uipment/Other Items	Units	Quantity	Rate	Total (Incl Tax)
May 2025					
Elsinore: ELSOT- Elsinore # 2 Diamoi	nd				
Mon 5 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
George H Luck: 0279SF- George Luci	x # 1 Diamond				
Mon 5 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Glengarry: 0184SF- Glengarry # 1 Dia	mond				
Mon 5 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 19 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Greenfield: 0178SF- Greenfield # 2 Di	amond				
Mon 5 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
HE Beriault: 8004SF- HE Beriault # 1	Diamond				
Mon 5 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Hudson: HUOT- Hudson # 1 Diamond					
Mon 5 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
James McCrie Douglas Park: JMPK-	James McCrie Douglas Park # 1				
Mon 5 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Katherine Therrien: 8043SF- Katherin	e Therrien # 5 Diamond				
Mon 26 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Katherine Therrien: 8043SF- Katherin	e Therrien # 6 Diamond				
Mon 5 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7

Canada Phone:

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

Date Times	Equipment/Other Items	Units	Quantity	Rate	Total (Incl Tax)
May 2025					
Nellie Carlson: 1936SF- Nellie Ca	ırlson # 1 Diamond				
Mon 5 May 07:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Ramsay Heights: RHOT- Ramsey	Heights # 1 Diamond				
Mon 5 May 07:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Sakaw: 0251SF- Sakaw # 1 Diame	ond				
Mon 5 May 07:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
St Augustine: 8038SF- St August	tine # 2 Diamond				
Mon 5 May 07:00:PM to 09:00:	PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 12 May 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 19 May 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 26 May 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
The Meadows: TMEAOT- The Me	adows # 1 Diamond				
Mon 5 May 07:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 12 May 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 26 May 07:00:PM to 08:30			1.50	\$6.30	\$9.45
	Subtotal for: May 2025		95.50	Hours	\$610.42
June 2025					
Belmont: 0228SF- Belmont # 3 D	iamond				
Mon 2 Jun 07:00:PM to 08:30:F	PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 9 Jun 07:00:PM to 08:30:F	PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 16 Jun 07:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 23 Jun 07:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 30 Jun 07:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Bessie Nichols: 1577SF- Bessie	Nichols # 1 Diamond				
Mon 2 Jun 07:00:PM to 09:00:F	PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 9 Jun 07:00:PM to 09:00:F	PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 16 Jun 07:00:PM to 09:00:	PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 23 Jun 07:00:PM to 09:00:	PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 30 Jun 07:00:PM to 09:00:	PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7

Canada Phone:

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

Date	Times	Equipment/Other Items	Units	Quantity	Rate	Total (Incl Tax)
June 2025						
Bessie Nichols	s: 1577SF- Bessi	e Nichols # 1 Diamond				
Bishop Savary	n: 8048SF- Bish	op Savaryn # 3 Diamond				
Mon 2 Jun 0	7:00:PM to 09:00	D:PM Fld-Diamond-Class "C" Standar	d	2.00	\$6.30	\$12.60
Mon 9 Jun 0	7:00:PM to 09:00	D:PM Fld-Diamond-Class "C" Standar	d	2.00	\$6.30	\$12.60
Mon 16 Jun (7:00:PM to 09:0	0:PM Fld-Diamond-Class "C" Standar	d	2.00	\$6.30	\$12.60
Mon 23 Jun (7:00:PM to 09:0	0:PM Fld-Diamond-Class "C" Standar	d	2.00	\$6.30	\$12.60
Mon 30 Jun (7:00:PM to 09:0	0:PM Fld-Diamond-Class "C" Standar	d	2.00	\$6.30	\$12.60
Cumberland: C	CUOT- Cumberla	nd # 1 Diamond				
Mon 2 Jun 0	7:00:PM to 08:30	D:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 9 Jun 0	7:00:PM to 08:30	D:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 16 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 23 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Dr Margaret-Aı	nn Armour: 1934	SF- Dr Margaret-Ann Amour # 1 Diamond				
Mon 30 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Dunluce: 0246	SF- Dunluce # 1	Diamond				
Mon 2 Jun 0	7:00:PM to 08:30	D:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 9 Jun 0	7:00:PM to 08:30	D:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 16 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 23 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Ellerslie Camp	us: ECOT- Ellers	slie # 1 Diamond				
Mon 23 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 30 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Elsinore: ELSC	OT- Elsinore # 2	Diamond				
Mon 2 Jun 0	7:00:PM to 08:30	D:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 9 Jun 0	7:00:PM to 08:30	D:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 16 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 23 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 30 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Garth Worthing	gton: 8839SF- Ga	arth Worthington # 1 Diamond				
Mon 30 Jun (7:00:PM to 09:0	0:PM Fld-Diamond-Class "C" Premier		2.00	\$12.15	\$24.30
George H Luck	: 0279SF- Georg	ge Luck # 1 Diamond				
Mon 2 Jun 0	7:00:PM to 08:30	D:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 9 Jun 0	7:00:PM to 08:30	D:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 16 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 23 Jun (7:00:PM to 08:3	0:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
	Ap of: 2025 04:	22 44:24 AM	#. 7422264			



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7

Canada Phone:

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

Mon 9 Jun 07:00:PM to 08:30:PM	Date	Times	Equipment/Other Items	Units	Quantity	Rate	Total (Incl Tax)
Glengarry: 0184SF- Glengary # 1 Diamond	June 2025						
Mon 2 Jun 07:00:PM to 08:30:PM Fid-Diamond-Class "C" Standard 1.50 \$6.30 \$8.30 \$9.	George H Luci	k: 0279SF- George	Luck # 1 Diamond				
Mon 9 Jun 07:00:PM to 08:30:PM Fid-Diamond-Class "C" Standard 1.50 \$6.30 \$8.	Glengarry: 018	34SF- Glengarry #	1 Diamond				
Mon 16 Jun 07:00:PM to 08:30:PM	Mon 2 Jun 0	7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 23 Jun 07:00:PM to 08:30:PM	Mon 9 Jun 0	7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 30 Jun 07:00:PM to 08:30:PM	Mon 16 Jun (07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$8.	Mon 23 Jun (07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 2 Jun 07:00:PM to 08:30:PM Fid-Diamond-Class "C" Standard 1.50 \$6.30 \$8.	Mon 30 Jun (07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 9 Jun 07:00:PM to 08:30:PM	Greenfield: 01	78SF- Greenfield #	2 Diamond				
Mon 23 Jun 07:00:PM to 08:30:PM	Mon 2 Jun 0	7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
HE Berlault: 3004SF- HE Berlault # 1 Diamond	Mon 9 Jun 0	7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 2 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 16 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 23 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 30 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 30 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$ Hudson: HUOT- Hudson #1 Diamond Mon 16 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$ JA Fife: 0188SF- JA Fife #2 Diamond Mon 30 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Fremier Area17 1.50 \$12.15 \$1 James McCrie Douglas Park: JMPK- James McCrie Douglas Park #1 Diamond Mon 2 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$ Katherine Therrien: 8043SF- Katherine Therrien #5 Diamond Mon 2 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 9 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 30 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 30 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Katherine Therrien: 8043SF- Katherine Therrien #6 Diamond Mon 2 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$8 Mon 9 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$8 Mon 9 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$8 Mon 9 Jun 07:00:PM to 08:30:PM FId-Diamond-Class "C" Standard 1.50 \$6.30 \$8	Mon 23 Jun (07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Hudson: HUOT- Hudson #1 Diamond Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ JA Fife: 0188SF- JA Fife #2 Diamond Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier Area17 1.50 \$12.15 \$1 James McCrie Douglas Park: JMPK- James McCrie Douglas Park #1 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Katherine Therrien: 8043SF- Katherine Therrien #5 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 24 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 25 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 25 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 27 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$1 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$1 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$1	HE Beriault: 80	004SF- HE Beriaul	t # 1 Diamond				
Mon 16 Jun 07:00:PM to 08:30:PM	Mon 2 Jun 0	7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 23 Jun 07:00:PM to 08:30:PM	Mon 9 Jun 0	7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 30 Jun 07:00:PM to 08:30:PM	Mon 16 Jun	07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Hudson: HUOT- Hudson # 1 Diamond 1.50 \$6.30 \$ JA Fife: 0188SF- JA Fife # 2 Diamond 1.50 \$6.30 \$ Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier Area17 1.50 \$12.15 \$1 James McCrie Douglas Park: JMPK- James McCrie Douglas Park # 1 Diamond 1.50 \$6.30 \$ Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Katherine Therrien: 8043SF- Katherine Therrien # 5 Diamond 1.50 \$12.15 \$1 Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$6.30	Mon 23 Jun (07:00:PM to 08:30	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ \$	Mon 30 Jun (07:00:PM to 08:30	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
JA Fife: 0188SF- JA Fife # 2 Diamond Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier Area17 1.50 \$12.15 \$1 James McCrie Douglas Park: JMPK- James McCrie Douglas Park # 1 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Katherine Therrien: 8043SF- Katherine Therrien # 5 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Katherine Therrien: 8043SF- Katherine Therrien # 6 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$	Hudson: HUO	T- Hudson # 1 Diai	mond				
Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier Area17 1.50 \$12.15 \$1 James McCrie Douglas Park: JMPK- James McCrie Douglas Park # 1 Diamond 1.50 \$6.30<	Mon 16 Jun	07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Dames McCrie Douglas Park: JMPK- James McCrie Douglas Park # 1 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$8.30 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$8.30 Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$8.30 Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$8.30 Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1.30 \$12.15 \$1.30 \$	JA Fife: 0188S	F- JA Fife # 2 Dian	nond				
Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$6.30 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Katherine Therrien: 8043SF- Katherine Therrien # 5 Diamond ***	Mon 30 Jun	07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Premier	Area17	1.50	\$12.15	\$18.22
Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Katherine Therrien: 8043SF- Katherine Therrien # 5 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Katherine Therrien: 8043SF- Katherine Therrien # 6 Diamond Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$6.30 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$6.30		Douglas Park: JM	IPK- James McCrie Douglas Park # 1				
Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 Katherine Therrien: 8043SF- Katherine Therrien # 5 Diamond 1.50 \$12.15 Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Katherine Therrien: 8043SF- Katherine Therrien # 6 Diamond 1.50 \$6.30 \$6.30 \$6.30 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$6.30 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$6.30		7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Katherine Therrien: 8043SF- Katherine Therrien # 5 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Katherine Therrien: 8043SF- Katherine Therrien # 6 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$	Mon 9 Jun 0	7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Katherine Therrien: 8043SF- Katherine Therrien # 6 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$	Mon 16 Jun (07:00:PM to 08:30	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Katherine Therrien: 8043SF- Katherine Therrien # 6 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$	Katherine The	rrien: 8043SF- Kat	herine Therrien # 5 Diamond				
Mon 16 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Katherine Therrien: 8043SF- Katherine Therrien # 6 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$	Mon 2 Jun 0	7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 23 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 \$1 Katherine Therrien: 8043SF- Katherine Therrien # 6 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$	Mon 9 Jun 0	7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 30 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Premier 1.50 \$12.15 Katherine Therrien: 8043SF- Katherine Therrien # 6 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$	Mon 16 Jun (07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Katherine Therrien: 8043SF- Katherine Therrien # 6 Diamond Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$	Mon 23 Jun (07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 2 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$ Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$	Mon 30 Jun (07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 9 Jun 07:00:PM to 08:30:PM Fld-Diamond-Class "C" Standard 1.50 \$6.30 \$	Katherine The	rrien: 8043SF- Kat	herine Therrien # 6 Diamond				
	Mon 2 Jun 0	7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
Mon 16 Jun 07:00:PM to 08:30:PM	Mon 9 Jun 0	7:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45
i i l	Mon 16 Jun	07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standar	d	1.50	\$6.30	\$9.45



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7

Canada Phone:

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

Booking #:7122261

Date Times	Equipment/Other Items	Units	Quantity	Rate	Total (Incl Tax)
June 2025					
Katherine Therrien: 8043SF-	Katherine Therrien # 6 Diamon	d			
Mon 23 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 30 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Nellie Carlson: 1936SF- Nellie	Carlson # 1 Diamond				
Mon 2 Jun 07:00:PM to 08:	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 9 Jun 07:00:PM to 08:	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 16 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 23 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 30 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Ramsay Heights: RHOT- Ram	sey Heights # 1 Diamond				
Mon 2 Jun 07:00:PM to 08:	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 9 Jun 07:00:PM to 08:	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 16 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 23 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 30 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Rundle Park: RNPK- Rundle I	Park # 6 Diamond				
Mon 30 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Premier	1.50	\$12.15	\$18.22
Sakaw: 0251SF- Sakaw # 1 Di	amond				
Mon 2 Jun 07:00:PM to 08:	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 9 Jun 07:00:PM to 08:	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 16 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 23 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
St Augustine: 8038SF- St Aug	justine # 2 Diamond				
Mon 2 Jun 07:00:PM to 09:	00:PM Fld-Diamond-Clas	s "C" Standard	2.00	\$6.30	\$12.60
Mon 9 Jun 07:00:PM to 09:	00:PM Fld-Diamond-Clas	s "C" Standard	2.00	\$6.30	\$12.60
Mon 16 Jun 07:00:PM to 09	00:PM Fld-Diamond-Clas	s "C" Standard	2.00	\$6.30	\$12.60
Mon 23 Jun 07:00:PM to 09	00:PM Fld-Diamond-Clas	s "C" Standard	2.00	\$6.30	\$12.60
Mon 30 Jun 07:00:PM to 09	00:PM Fld-Diamond-Clas	s "C" Standard	2.00	\$6.30	\$12.60
St Maria Goretti: 8047SF- St I	Maria Goretti # 5 Diamond				
Mon 30 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Premier	1.50	\$12.15	\$18.22
The Meadows: TMEAOT- The	Meadows # 1 Diamond				
Mon 2 Jun 07:00:PM to 08:	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 9 Jun 07:00:PM to 08:	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 16 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45
Mon 23 Jun 07:00:PM to 08	30:PM Fld-Diamond-Clas	s "C" Standard	1.50	\$6.30	\$9.45

Printed As of: 2025-04-22 11:24 AM **Booking #: 7122261** Page 6 of 15



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7

Canada Phone:

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

Date Times	Equipment/Other Items	Units	Quantity	Rate	Total (Incl Tax)
June 2025					
The Meadows: TMEAOT- The M	leadows # 1 Diamond				
Mon 30 Jun 07:00:PM to 08:30	0:PM Fld-Diamond-Class "C" Standard	i	1.50	\$6.30	\$9.45
	Subtotal for: June 2025		143.00	Hours	\$1,000.30
July 2025					
Belmont: 0228SF- Belmont # 3	Diamond				
Mon 7 Jul 07:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standard	d	1.50	\$6.30	\$9.45
Mon 14 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard	d	1.50	\$6.30	\$9.45
Mon 21 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard	d	1.50	\$6.30	\$9.45
Mon 28 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard	d	1.50	\$6.30	\$9.45
Bessie Nichols: 1577SF- Bessie	∍ Nichols # 1 Diamond				
Mon 7 Jul 07:00:PM to 09:00:	PM Fld-Diamond-Class "C" Standard	d	2.00	\$6.30	\$12.60
Mon 14 Jul 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard	d	2.00	\$6.30	\$12.60
Mon 21 Jul 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard	i	2.00	\$6.30	\$12.60
Mon 28 Jul 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard	d	2.00	\$6.30	\$12.60
Bishop Savaryn: 8048SF- Bisho	op Savaryn # 3 Diamond				
Mon 7 Jul 07:00:PM to 09:00:	PM Fld-Diamond-Class "C" Standard	d	2.00	\$6.30	\$12.60
Mon 14 Jul 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard	d	2.00	\$6.30	\$12.60
Mon 21 Jul 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard	i	2.00	\$6.30	\$12.60
Mon 28 Jul 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard	d	2.00	\$6.30	\$12.60
Dr Margaret-Ann Armour: 1934	SF- Dr Margaret-Ann Amour # 1 Diamond				
Mon 7 Jul 07:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standard	d	1.50	\$6.30	\$9.45
Mon 14 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard	d	1.50	\$6.30	\$9.45
Mon 21 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard	i	1.50	\$6.30	\$9.45
Mon 28 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard	d	1.50	\$6.30	\$9.45
Ellerslie Campus: ECOT- Ellers	lie # 1 Diamond				
Mon 7 Jul 07:00:PM to 08:30:	PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 14 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 21 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 28 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Elsinore: ELSOT- Elsinore # 2 [Diamond				
Mon 7 Jul 07:00:PM to 08:30:	PM Fld-Diamond-Class "C" Standard	d	1.50	\$6.30	\$9.45
Mon 14 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard	i	1.50	\$6.30	\$9.45
Mon 21 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard	i	1.50	\$6.30	\$9.45
Mon 28 Jul 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard	d	1.50	\$6.30	\$9.45
Glengarry: 0184SF- Glengarry #	‡ 1 Diamond				



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7

Canada Phone:

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

Booking #:7122261

Date Times	Equ	ipment/Other Items	Units	Quantity	Rate	Total (Incl Tax)
July 2025						
Glengarry: 0184SF- Glengarry	y # 1 Dian	nond				
Mon 7 Jul 07:00:PM to 08:3	80:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 14 Jul 07:00:PM to 08:3	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 21 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 28 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
HE Beriault: 8004SF- HE Beri	ault # 1 D	iamond				
Mon 7 Jul 07:00:PM to 08:3	80:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 14 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 21 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 28 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
JA Fife: 0188SF- JA Fife # 2 D	Diamond					
Mon 7 Jul 07:00:PM to 08:3	80:PM	Fld-Diamond-Class "C" Premier Area	a17	1.50	\$12.15	\$18.22
Mon 14 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Premier Area	a17	1.50	\$12.15	\$18.22
Mon 21 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Premier Area	a17	1.50	\$12.15	\$18.22
Mon 28 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Premier Area	a17	1.50	\$12.15	\$18.22
James McCrie Douglas Park:	JMPK- J	ames McCrie Douglas Park # 1				
Mon 7 Jul 07:00:PM to 08:3	80:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 14 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 21 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 28 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Katherine Therrien: 8043SF-	Katherine	Therrien # 5 Diamond				
Mon 7 Jul 07:00:PM to 08:3	80:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 14 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 21 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 28 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Katherine Therrien: 8043SF-	Katherine	Therrien # 6 Diamond				
Mon 7 Jul 07:00:PM to 08:3	80:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 14 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 21 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 28 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Nellie Carlson: 1936SF- Nellie	e Carlson	# 1 Diamond				
Mon 7 Jul 07:00:PM to 08:3	80:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 14 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 21 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 28 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45

Printed As of: 2025-04-22 11:24 AM **Booking #: 7122261** Page 8 of 15



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7

Canada Phone:

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

Date Times	Equi	ipment/Other Items	Units	Quantity	Rate	Total (Incl Tax)
July 2025						
Nellie Carlson: 1936SF- Nellie	Carlson	# 1 Diamond				
Ramsay Heights: RHOT- Ram	sey Heigl	hts # 1 Diamond				
Mon 7 Jul 07:00:PM to 08:3	0:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 14 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 21 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 28 Jul 07:00:PM to 08:3	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Rundle Park: RNPK- Rundle F	Park # 6 D	iamond				
Mon 7 Jul 07:00:PM to 08:3	0:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 14 Jul 07:00:PM to 08:3	30:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 21 Jul 07:00:PM to 08:3	30:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Sakaw: 0251SF- Sakaw # 1 Di	amond					
Mon 28 Jul 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
St Augustine: 8038SF- St Aug	justine # 1	2 Diamond				
Mon 7 Jul 07:00:PM to 09:0	0:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 14 Jul 07:00:PM to 09:0	00:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 21 Jul 07:00:PM to 09:0	00:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 28 Jul 07:00:PM to 09:0	00:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
St Maria Goretti: 8047SF- St M	/laria Gor	etti # 5 Diamond				
Mon 7 Jul 07:00:PM to 08:3	0:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 14 Jul 07:00:PM to 08:3	30:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 21 Jul 07:00:PM to 08:3	30:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 28 Jul 07:00:PM to 08:3	30:PM	Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
The Meadows: TMEAOT- The	Meadows	s # 1 Diamond				
Mon 7 Jul 07:00:PM to 08:3	0:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 14 Jul 07:00:PM to 08:3	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 21 Jul 07:00:PM to 08:3	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 28 Jul 07:00:PM to 08:3	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
		Subtotal for: July 2025		114.00	Hours	\$884.83
August 2025						
Belmont: 0228SF- Belmont #	3 Diamon	d				
Mon 4 Aug 07:00:PM to 08:	30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 11 Aug 07:00:PM to 08	:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 18 Aug 07:00:PM to 08	:30:PM	Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Bessie Nichols: 1577SF- Bess	sie Nichol	s # 1 Diamond				
Mon 11 Aug 07:00:PM to 09	:00:PM	Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
	1 22 44.24	AM Booking #	7422264			ļ



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7

Canada Phone:

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

Date	Times	Equipment/Other Items	Units	Quantity	Rate	Total (Incl Tax)
August 2025						
Bessie Nichols:	1577SF- Bessie Ni	chols # 1 Diamond				
Mon 18 Aug 0	7:00:PM to 09:00:P	M Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Bishop Savaryn	ı: 8048SF- Bishop \$	Savaryn # 3 Diamond				
Mon 4 Aug 07	7:00:PM to 09:00:PM	M Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 11 Aug 0	7:00:PM to 09:00:P	M Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 18 Aug 0	7:00:PM to 09:00:P	M Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Cumberland: Cl	JOT- Cumberland #	t 1 Diamond				
Mon 4 Aug 07	7:00:PM to 08:30:PI	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Dr Margaret-An	n Armour: 1934SF-	Dr Margaret-Ann Amour # 1 Diamond				
Mon 11 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 18 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Dunluce: 0246S	F- Dunluce # 1 Dia	mond				
Mon 4 Aug 07	7:00:PM to 08:30:PI	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Ellerslie Campu	s: ECOT- Ellerslie	# 1 Diamond				
Mon 11 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Elsinore: ELSO	T- Elsinore # 2 Diar	nond				
Mon 11 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 18 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Garth Worthing	ton: 8839SF- Garth	Worthington # 1 Diamond				
Mon 11 Aug 0	7:00:PM to 09:00:P	M Fld-Diamond-Class "C" Premier		2.00	\$12.15	\$24.30
Mon 18 Aug 0	7:00:PM to 09:00:P	M Fld-Diamond-Class "C" Premier		2.00	\$12.15	\$24.30
Glengarry: 0184	SF- Glengarry # 1	Diamond				
Mon 4 Aug 07	7:00:PM to 08:30:PI	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 11 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 18 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
HE Beriault: 800)4SF- HE Beriault #	1 Diamond				
Mon 11 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 18 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
JA Fife: 0188SF	- JA Fife # 2 Diamo	nd				
Mon 11 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Premier Are	ea17	1.50	\$12.15	\$18.22
Mon 18 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Premier Are	ea17	1.50	\$12.15	\$18.22
James McCrie D	Douglas Park: JMP	K- James McCrie Douglas Park # 1				
ŭ	7:00:PM to 08:30:P			1.50	\$6.30	\$9.45
Mon 18 Aug 0	7:00:PM to 08:30:P	M Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services

Payments

19th Floor Edmonton Tower Edmonton AB T5J 2R7

Canada Phone:

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

Booking #: 7122261

Date Times	Equipment/Other Items	Units	Quantity	Rate	Total (Incl Tax)
August 2025					
James McCrie Douglas Park: JN Diamond	IPK- James McCrie Douglas Park # 1				
Katherine Therrien: 8043SF- Kat	therine Therrien # 5 Diamond				
Mon 11 Aug 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 18 Aug 07:00:PM to 08:30	PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Katherine Therrien: 8043SF- Kat	therine Therrien # 6 Diamond				
Mon 11 Aug 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 18 Aug 07:00:PM to 08:30):PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Nellie Carlson: 1936SF- Nellie C	arlson # 1 Diamond				
Mon 11 Aug 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 18 Aug 07:00:PM to 08:30):PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Ramsay Heights: RHOT- Ramse	y Heights # 1 Diamond				
Mon 11 Aug 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 18 Aug 07:00:PM to 08:30):PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Sakaw: 0251SF- Sakaw # 1 Diam	nond				
Mon 18 Aug 07:00:PM to 08:30):PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
St Augustine: 8038SF- St Augus	tine # 2 Diamond				
Mon 4 Aug 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 11 Aug 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
Mon 18 Aug 07:00:PM to 09:00	:PM Fld-Diamond-Class "C" Standard		2.00	\$6.30	\$12.60
St Maria Goretti: 8047SF- St Mar	ria Goretti # 5 Diamond				
Mon 11 Aug 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
Mon 18 Aug 07:00:PM to 08:30):PM Fld-Diamond-Class "C" Premier		1.50	\$12.15	\$18.22
The Meadows: TMEAOT- The Mo	eadows # 1 Diamond				
Mon 11 Aug 07:00:PM to 08:30	:PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
Mon 18 Aug 07:00:PM to 08:30):PM Fld-Diamond-Class "C" Standard		1.50	\$6.30	\$9.45
	Subtotal for: August 2025		68.00	Hours	\$513.19

	Sub Total	\$3,008.74
TOTAL Booking	420.50 Hours	\$3,008.74

Includes Tax of **GST-Transporta** \$143.37

Site Details

0188SF- JA Fife # 2 Diamond



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7 Canada

Canada Phone:

Booking #: 7122261

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

Booked at no charge for Northeast Zone Sports Council (Baseball and Softball)

Conditions of Use

Schedule B

TERMS AND CONDITIONS

1. PAYMENT OF LICENSE FEE

- 1.1 The City shall provide a monthly statement that describes the Premises used by the Licensee and the amount owing, if any, to the City by the Licensee. The Licensee shall pay the City in a manner consistent with the terms and conditions indicated on the statement
- 1.2 If the Term represents only one date or time of use, then the Licensee shall pay the License Fee to the City prior to the start of the Term

2. USE OF PREMISES

- 2.1 The Licensee shall use the Premises solely for the Authorized Purpose described in the License Agreement and will comply with all Federal, Provincial or Municipal law.
- 2.2 The Licensee will not do or permit to be done in the Premises anything which may render void or voidable any insurance policy or policies on the Premises.
- 2.3 The Licensee shall not bring any alcoholic beverages on to the Premises without first having obtained the appropriate approvals and permit from the City's Community Services Department and acquiring the appropriate licence from the Alberta Gaming and Liquor Commission.
- 2.4 Unless otherwise specifically authorized in writing by the City, the Licensee is prohibited from conducting the following activities:
- (a) the sale of merchandise, souvenirs or novelties;
- (b) rentals of any kind;
- (c) any advertising; and
- (d) any commercial filming, photography or media coverage;
- 2.5 The Licensee shall comply with the Guidelines attached. The City may amend the Guidelines from time to time, and in the event that the Guidelines are found to be inconsistent, contrary to, or in conflict with the wording of these Terms and Conditions, the wording of these Terms and Conditions shall apply.
- 2.6 The Licensee shall comply with all rules and regulations posted at the Premises. The rules and regulations posted at the Premises may be amended from time to time by the City. In the event that the rules and regulations are inconsistent, contrary or in conflict with the provisions of this License Agreement, the provisions of this License Agreement shall apply.
- 2.7 All designated City personnel shall have complete access to any part of the Premises at any time during the Term.
- 2.8 The Licensee shall pay the City for any City property damaged or destroyed during the Licensee's use of the Premises, reasonable wear and tear excepted.

3. TERMINATION OR AMENDMENT BY CITY

- 3.1 The City may immediately terminate this License Agreement with forfeiture by the Licensee of all License Fees paid to the City if:
- (a) the Licensee fails to pay the License Fee,
- (b) the Licensee fails to use the Premises during the Term, or
- (c) the Licensee fails to comply with the provisions of this License Agreement.
- 3.2 The City may terminate this License agreement or amend the Term, with the License Fee to be adjusted on a pro rata basis, by providing written notice to the Licensee if:
- (a) a mechanical failure occurs in the Premises or its related equipment;
- (b) it would not be advisable, in the opinion of the City, to use or occupy the Premises; or
- (c) excluding the Downtown Community Arena, the City provides notice at least thirty (30) days in advance of the date of termination or amendment.
- 3.3 The City may cancel or reschedule a booking at the Downtown Community Arena with 48 hours notice, as a result of a late

Printed As of: 2025-04-22 11:24 AM **Booking #: 7122261** Page 12 of 15



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7

Phone:

Booking #: 7122261

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

change to the major event schedule in Rogers Place. In the event of such a cancellation or rescheduling, the portion of the licence fees affected will either be a refunded or applied to a rescheduled time.

3.4 The City may change the Premises from one location to another by providing notice to the Licensee of such change

4. TERMINATION OR AMENDMENT BY LICENSEE

- 4.1 The Licensee may terminate this License Agreement or reduce the Term by providing the City with written notice at least sixteen (16) days in advance of the date of termination or reduction of Term. The Licensee shall receive a full or pro rated refund of any License Fee paid to the City for the part of the Term.
- 4.2 If the Licensee fails to provide the City with written notice at least sixteen (16) days in advance of the date of termination or reduction of Term the License Fee paid to the City will be non-refundable.

5. INDEMNITY AND WAIVER

- 5.1 All property of whatever nature or kind brought on to the Premises by the Licensee during the License Term shall be brought on to the Premises at the sole risk of the Licensee.
- 5.2 The City makes no representation or warranty to the Licensee concerning liability for loss or damage to such property while they are on the Premises.
- 5.3 The Licensee covenants and agrees that it shall not make or bring any claim, action, suit, proceeding or demand against the City, its elected officials, officers, employees, servants, agents and contractors with respect to any act, failure to act, default, misconduct, occurrence, incident, accident or happening relating in any manner whatsoever to this License Agreement and the rights and obligations arising therefrom, which, without limiting the generality of the forgoing shall include any claim, action, suit, proceeding or demand arising in tort or in contract unless arising out of the negligent or willful acts of the City, its employees or agents.
- 5.4 The Licensee covenants and agrees to indemnify and save harmless the City and its elected officials, officers, employees, servants, agents and contractors with respect to any suit, proceeding, claim or demand made or brought against the City by any party with respect to any occurrence, incident, accident, or happening relating in any manner whatsoever to the negligent acts or omissions of the Licensee, its employees, agents and invitees, and which indemnity shall, without restricting the generality of the foregoing, include all legal costs on a solicitor and client basis incurred by the City in defending such a claim, action, suit, proceeding or demand.

6. INSURANCE

6.1 It is recommended that the Licensee, at its own expense, obtain and maintain throughout the Term, General Liability insurance in an amount not less than Two Million Dollars (\$2,000,000.00) per occurrence for death, bodily injury, property damage, and personal injury.

This insurance policy should be endorsed to add the City as an additional insured and include the following coverages:

- (a) Blanket contractual;
- (b) Tenant's legal liability;
- (c) Premises and operations;
- (d) Cross liability/severability of interests;
- (e) Injury to participants, if applicable;
- (f) Host liquor liability, if applicable; and
- (g) Intentional injury, if applicable.
- 6.2 The Licensee shall, upon request by the City, provide the City with proof of the existence of such insurance in the form of a City certificate of insurance or such other form acceptable to the City's Director of Risk Management.

7. CONTROL OF PREMISES

7.1 The final authority on all matters at the Premises shall be the Citizen Services Department.

8. GENERAL

- 8.1 Any disputes regarding any matter concerning the use of the Premises by the Licensee, pursuant to the terms of this License, shall be referred to the City's General Manager, Citizen Services Department, whose decision will be final and binding.
- 8.2 This License shall not be assigned or transferred without prior written consent of the City.
- 8.3 The Licensee acknowledges that The Freedom of Information and Protection of Privacy Act (Alberta), as amended, applies to all information and records relating to, or obtained, created or collected under this License Agreement.

Printed As of: 2025-04-22 11:24 AM **Booking #: 7122261** Page 13 of 15



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7 Canada

Phone:

Booking #: 7122261

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

- 8.4 The Laws of the Province of Alberta shall govern this Agreement.
- 8.5 Time is considered to be of the essence in this Agreement.
- 8.6 This Agreement is the entire agreement between the City and the Licensee with regard to the matters dealt with in it, and there are no understandings or agreements, representations, warranties, conditions or collateral terms, verbal or otherwise, existing between the City and the Licensee except as expressly stated in this Agreement or as agreed in writing by the parties.
- 8.7 The waiver by the City or the Licensee of the strict performance of any term or condition in this Agreement shall not constitute a waiver of any other term or condition nor shall it be deemed a waiver of any subsequent breach of the same or of any other term or condition in this Agreement.
- 8.8 This Agreement shall not be modified, varied or amended except by the written agreement of the City and the Licensee.
- 8.9 This Agreement shall be binding upon the City and the Licensee and their respective successors and permitted assigns.
- 8.10 Notices or other correspondence shall be addressed to City or the Licensee at the addresses stated on the first page of this License Agreement.
- 9. The Licensee shall not do or permit to be done anything which might be deemed a nuisance or which may be contrary to any federal or provincial laws or to any of the bylaws of the City. For greater certainty, all sound levels required for the Event shall be in compliance with the provisions of the City of Edmonton Citizen Standards Bylaw 14600, as amended.
- 10. The Licensee acknowledges and agrees that the Event is intended to be family-friendly, and all performances, exhibitions and activities carried on in any unrestricted area will conform to a family / general audience standard with respect to language and content. The Licensee shall not permit any performances, exhibitions or activities that promote or incite racism, hatred, discrimination, harassment, or violence.
- 11. If the Licensee/Organizer, sub-licensees/organizer or invitees of the Licensee/Organizer are in breach of any of the terms of this License Agreement, the City may, in its sole discretion upon giving oral or written notice to the Licensee/Organizer, the designated representative of the Licensee/Organizer or to such other representative of the Licensee/Organizer as is present at the Festival, immediately suspend or revoke in whole or in part the license granted herein with respect to access to and use of the Licensed Area, inclusive of Festival activities, during the Term, and the Licensee shall be required to vacate the Licensed Area in accordance with such notice. The City shall not be liable for any damages or costs suffered by the Licensee due to the suspension or revocation of the license as provided herein.

SPORT FIELD USE TERMS & CONDITIONS

We are pleased to make the sports fields available for your use. If you have any questions about any of these guidelines, rules or regulations posted at the facility, please contact the Facility Booking staff at sportsfieldbookings@edmonton.ca or 780-442-4548.

- 1. INCLEMENT WEATHER POLICY FOR UNSTAFFED FACILITIES
- 1.1 These include Premier and Standard fields and diamonds that have a cost associated with them.
- 1.2 Please call the Sports Field Closure Line at 780-496-4999 or visit the City of Edmonton Facility Notifications webpage for Sports Fields to check if fields are closed due to inclement weather. These updates are processed as needed at 2pm on weekdays and 10am on weekends/holidays.
- 1.3 Groups must email no later than 12 PM (noon) on the day after their booking indicating conditions were unplayable to receive a cancellation refund.
- 1.4 Groups must email no later than 12 PM (noon) on the day after their booking indicating that a high air quality index (AQI) prevented their activity/sport from being played. The Sports Field Booking team will then review historical air quality data from the day before. If AQI was recorded at 7 or higher at the time of your booking, a cancellation refund for the affected rental(s) will be processed.

2. USER GROUP RESPONSIBILITIES

Printed As of: 2025-04-22 11:24 AM **Booking #: 7122261** Page 14 of 15



GST # 119326270 RT0001

City of Edmonton

PO Box 2359 - Community Services Payments 19th Floor Edmonton Tower Edmonton AB T5J 2R7 Canada

Phone:

Booking #: 7122261

Edmonton Christian Slo-Pitch League

2025 SLO Diamond - Adult

- 2.1 It is expected that all participants and members of your organization will be made aware of the terms and conditions of the license(s) and that you bring a copy of the license(s) with you to all your rentals.
- 2.2 If no members of the group attend the booking, the rental booking will be considered a "no show" for which the rental fee will be non-refundable. Upon receiving three (3) "no shows", the user group will be put on probation by the Allocation Supervisor and may be subject to losing booking privileges.
- 2.3 During heavy or prolonged rain during your booking time, please discontinue use of fields to reduce damage to playing surfaces. Replacement dates due to rainout can be booked by emailing Sports Field Bookings.
- 2.4 Parking is limited. Encourage users to park in designated parking lots or on the field side of the street. Try to avoid parking in front of neighbourhood homes.
- 2.5 Motor vehicles are not allowed to be driven on parkland without a permit.
- 2.6 Non-game exercises and warm-up activities must be performed along the edge of the field to reduce the wear and tear on the playing surface.
- 2.7 Only teams/participants who belong to the booking group are permitted to use the field area during the booking. Groups are not permitted to use any area of the field for warm-up or cool-down before or after their booking timeslot (e.g., Endzone use)
- 2.8 Waste and garbage must be deposited in the garbage receptacles located adjacent to or near the field. If maintenance is required to repair damage or to clean up the site as a result of your booking, the Licensee will be billed accordingly.
- 2.9 The consumption of alcohol on City parkland is prohibited.

I, Andrew Crossman, acknowledge and agree that I have read the terms and conditions included and/or attached and agree to be bound by them, my entry or the entry of one or more of the people I represent to the facility on the first date listed on this permit will confirm my acceptance of all the terms and conditions of this permit; if this permit is taken out in the name of a group or company, I have the authority of that group or company to bind it and its members to this agreement and the terms and conditions contained herein.

	X:		
Andrew Crossman			
Edmonton Christian Slo-Pitch League 7356 188 Street NW Edmonton AB T5T 5G3 Canada		Name	
		Title	
		City of Edmonton	